
EE 201 —  HW 7.11 Name__________________________________________

For the circuit shown, calculate the 
complex value of the voltage v2, for 
angular frequencies of 5 krad/s,  
10 krad/s, and 20 krad/s.  Express the 
answers in magnitude / phase form.  
Don’t forget about units.

 
ω = 5000 rad/s :   = ______________________________________________

 
ω = 10,000 rad/s :   = ______________________________________________

 
ω = 20,000 rad/s :   = ______________________________________________
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Write your answers — and whatever work will fit — on this sheet.  Staple any sheets with additional work behind.

VS = Vm cos(ωt)
Vm = 10 V
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0.1 µF


